

# DIFFERENTIAL EQUATIONS

## EXERCISE 2.9

Problems solved by;

*Umair Asghar*

NWFP, UET Peshawar

"General Sol of Nonhomogeneous Equations"  
 For a (real) General Sol which rule you are using?

①  $y'' + 4y = 8\sin 3x$  — ①

The general sol is

$y = y_h + y_p$  — ②

For  $y_h$ , we have the characteristic equation of the corresponding homogeneous eq as

$\lambda^2 + 4 = 0 \Rightarrow \lambda^2 = -4 \Rightarrow \lambda = \pm 2i$

hence  $y_h = A e^{2ix} + B e^{-2ix}$

Now  $y_p = K \cos 3x + M \sin 3x$  (See Table 2.1 in Book)

$\Rightarrow y'_p = -3K \sin 3x + 3M \cos 3x$

$\Rightarrow y''_p = -9K \cos 3x - 9M \sin 3x$  putting in ①

$\Rightarrow -9K \cos 3x - 9M \sin 3x = 8 \sin 3x$

comparing coefficients of  $\sin 3x$  and  $\cos 3x$  of on l.h.s respectively

$\Rightarrow -9M = 8 \Rightarrow M = -8/9$

and  $-9K = 0 \Rightarrow K = 0$

hence  $y_p = -\frac{8}{9} \sin 3x$

putting in ② we get

$y = C_1 e^{2ix} + C_2 e^{-2ix} - \frac{8}{9} \sin 3x$  Ans

①  $y'' + 4y = 8\sin 3x$  — ①

The general sol is

$y = y_h + y_p$  — ②

For  $y_h$ , we have the characteristic eq of the corresponding homogeneous eq as

$\lambda^2 + 4 = 0 \Rightarrow \lambda = \pm 2i$

$\therefore y_h = e^0 (A \cos 2x + B \sin 2x)$

$\Rightarrow y_h = A \cos 2x + B \sin 2x$

Now From Table 2.1 in book

let  $y_p = K \cos 3x + M \sin 3x$





$$y = c_1 e^x + c_2 e^{-x} + x e^x + 2e^{2x}$$

$$\Rightarrow y = (c_1 + x) e^x + c_2 e^{-x} + 2e^{2x}$$

Ans

③  $y'' + 3y' = 28 \cosh 4x$ . — (1)

Sol The general sol of (1) is given by.

$$y = y_h + y_p \text{ — (2)}$$

For  $y_h$ , we have the characteristic eq of the corresponding homogeneous eq as.

$$\lambda^2 + 3\lambda = 0 \Rightarrow \lambda(\lambda + 3) = 0.$$

$$\Rightarrow \lambda = 0, \lambda = -3.$$

$$\text{hence } y_h = c_1 + c_2 e^{-3x}.$$

now

~~Sol  $y_p = K \cosh 4x + M \sinh 4x$~~

$$\text{③} \Rightarrow y'' + 3y' = 28 \left( \frac{e^{4x} + e^{-4x}}{2} \right)$$

$$\therefore \text{let } y_p = A e^{4x} + B e^{-4x}$$

$$\Rightarrow y_p' = 4A e^{4x} - 4B e^{-4x}$$

$$\Rightarrow y_p'' = 16A e^{4x} + 16B e^{-4x}$$

- putting in (1)

$$\Rightarrow 16A e^{4x} + 16B e^{-4x} + 12A e^{4x} - 12B e^{-4x} = \frac{28}{2} (e^{4x} + e^{-4x})$$

comparing coefficients of  $e^{4x}$  and  $e^{-4x}$  on l.h.s.

we get

$$16A + 12A = 14 \quad \& \quad 16B - 12B = 14.$$

$$\Rightarrow A = 14/28 = 1/2 \quad \Rightarrow B = 14/4 = 7/2.$$

$$\therefore y_p = \frac{1}{2} e^{4x} + \frac{7}{2} e^{-4x}$$

and

$$y = c_1 + c_2 e^{-3x} + \frac{1}{2} e^{4x} + \frac{7}{2} e^{-4x}$$

Ans





sol  $y = y_h + y_p$  — (2)

for  $y_h$ .

$$\lambda^2 + 2\lambda + 10 = 0$$

Q5  $\Rightarrow \lambda = \frac{-2 \pm \sqrt{4 - 40}}{2} = \frac{-2 \pm 6i}{2} = -1 \pm 3i$

$\therefore y_h = e^{-x} (A \cos 3x + B \sin 3x)$

let  $y_p = K_2 x^2 + K_1 x + K_0$

$\Rightarrow y_p' = 2K_2 x + K_1$  &  $y_p'' = 2K_2$

pulling m@wed

$$2K_2 + 4K_2 x + 2K_1 + 10K_2 x^2 + 10K_1 x + 10K_0 = 25x^2 + 3$$

comparing coefficients of  $x^2$ ,  $x$  and constants m@y

we have.

$$10K_2 = 25 \Rightarrow K_2 = 5/2$$

Also  $4K_2 + 10K_1 = 0$

$$\Rightarrow 10K_1 = -4K_2 \Rightarrow 10K_1 = -4(5/2) = -10$$

$$\Rightarrow K_1 = -1$$

and  $2K_2 + 2K_1 + 10K_0 = 3$

$\Rightarrow 5 + (-2) + 10K_0 = 3 \Rightarrow 10K_0 = 3 - 3$

$$\Rightarrow K_0 = 0/10 = 0$$

$\Rightarrow K_0 = 0$

$\therefore y_h = e^{-x} (A \cos 3x + B \sin 3x)$

$$y_p = 5/2 x^2 - x$$

and  $y = e^{-x} (A \cos 3x + B \sin 3x) + 5/2 x^2 - x$

$$\Rightarrow y = e^{-x} (A \cos 3x + B \sin 3x) + 5/2 x^2 - x$$

Ans

(6)  $3y'' + 10y' + 3y = 9x + 5 \cos x$  — (1)

sol  $y = y_h + y_p$  — (2)

for  $y_h$ .

$$3\lambda^2 + 10\lambda + 3 = 0$$

$$\Rightarrow \lambda = \frac{-10 \pm \sqrt{100 - 4(9)}}{6} = \frac{-10 \pm \sqrt{64}}{6}$$

$$\Rightarrow \lambda = \frac{-10 \pm 8}{6} = -1/6, -18/6 = -1/3, -3$$

let

$$y_p = K_1 x + K \cos x + M \sin x + k_0.$$

$$\Rightarrow y'_p = K_1 - K \sin x + M \cos x.$$

$$\Rightarrow y''_p = K_1 - K \cos x - M \sin x.$$

pulling me ①

$$\Rightarrow 3K_1 - 3K \cos x - 3M \sin x + 10K_1 - 10K \sin x + 10M \cos x + 3K_0 + 3K_1 x' + 3K \cos x + 3M \sin x = 9x + 5 \cos x.$$

$$\Rightarrow 10K_1 + 3K_1 x - 10K \sin x + 10M \cos x = 9x + 5 \cos x$$

comparing coefficients of  $x$ ,  $\cos x$  and constants m b/s

$$10K_1 + 3K_0 = 0 \Rightarrow K_0 = -\frac{10}{3} K_1.$$

$$\text{also } 3K_1 = 9 \Rightarrow K_1 = 3. \therefore K_0 = -10.$$

$$\text{and } -10K = 0 \Rightarrow K = 0, \text{ and } 10M = 5 \Rightarrow M = 1/2.$$

$$\therefore y_p = 3x + \frac{1}{2} \sin x - 10.$$

and hence

$$y = y_h + y_p.$$

$$\Rightarrow y = c_1 e^{-x/3} + c_2 e^{-3x} + 3x + \frac{1}{2} \sin x - 10.$$

check  $y' = -\frac{c_1}{3} e^{-x/3} - 3c_2 e^{-3x} + 3 + \frac{1}{2} \cos x.$

$$\Rightarrow y'' = \frac{c_1}{9} e^{-x/3} + 9c_2 e^{-3x} - \frac{1}{2} \sin x.$$

$$\begin{aligned} \text{①} \Rightarrow & \frac{c_1}{9} e^{-x/3} + 9c_2 e^{-3x} - \frac{3}{2} \sin x - \frac{10}{3} e^{-x/3} - 3c_2 e^{-3x} + 36 \\ & + 5 \cos x + 3c_1 e^{-x/3} + 3c_2 e^{-3x} + 9x + \frac{3}{2} \sin x - 30 \\ & = 9x + 5 \cos x. \end{aligned}$$

verified

$$\text{② } y'' + y' - 6y = -6x^3 + 3x^2 + 6x. \text{---①}$$

for  $y_h$  :

$$\lambda^2 + \lambda - 6 = 0 \Rightarrow \lambda^2 + 3\lambda - 2\lambda - 6 = 0.$$

$$\Rightarrow \lambda(\lambda + 3) - 2(\lambda + 3) = 0$$



$$\text{let } y_p = k_3 x^3 + k_2 x^2 + k_1 x + k_0$$

$$\Rightarrow y'_p = 3k_3 x^2 + 2k_2 x + k_1$$

$$\Rightarrow y''_p = 6k_3 x + 2k_2 \quad \text{putting in (1)}$$

$$\Rightarrow 6k_3 x + 2k_2 + 3k_3 x^2 + 2k_2 x + k_1 - 6k_3 x^3 - 6k_2 x^2 - 6k_1 x - 6k_0 = -6x^3 + 3x^2 + 6x$$

Comparing coefficients of  $x^3, x^2, x$  and constants on both sides we have.

$$(1) -6k_3 = -6 \Rightarrow k_3 = 1$$

$$(2) -6k_2 + 3k_3 = 3 \Rightarrow 6k_2 = 3k_3 - 3$$

$$(3) \Rightarrow 6k_2 = 3 - 3 = 0 \Rightarrow k_2 = 0$$

$$(4) -6k_1 + 2k_2 + 6k_3 = 6 \Rightarrow k_1 = \frac{2(0) + 6(1) - 6}{6} = 0$$

$$(5) -6k_0 + k_1 + 2k_2 = 0$$

$$\Rightarrow 6k_0 = 0 \Rightarrow k_0 = 0$$

$$\therefore y_p = x^3$$

and hence

$$y = y_h + y_p = c_1 e^{-3x} + c_2 e^{2x} + x^3$$

Ans

$$(8) y'' + 6y' + 9y = 50e^x \cos x \quad \text{--- (1)}$$

$$\text{sol } y = y_h + y_p \quad \text{--- (2)}$$

For  $y_h$ , we have

$$\lambda^2 + 6\lambda + 9 = 0$$

$$\Rightarrow \lambda^2 + 3\lambda + 3\lambda + 9 = 0 \Rightarrow \lambda(\lambda + 3) + 3(\lambda + 3) = 0$$

$$\Rightarrow \lambda = -3, \lambda = -3 \quad \text{double roots}$$

$$\text{hence } y_h = (c_1 + c_2 x)e^{-3x}$$

Also let

$$y_p = e^{-x}(K \cos x + M \sin x)$$

$$\Rightarrow y'_p = -e^{-x}(K \cos x + M \sin x) + e^{-x}(-K \sin x + M \cos x)$$

$$\Rightarrow y''_p = e^{-x}(K \cos x + M \sin x) - e^{-x}(-K \sin x + M \cos x) + e^{-x}(-K \cos x - M \sin x) - e^{-x}(K \sin x + M \cos x)$$

$$\Rightarrow y''_p = e^{-x}(K \cos x + M \sin x + K \sin x - M \cos x - K \cos x - M \sin x - K \sin x - M \cos x)$$



if not in

$$y'' + 9y = 6\cos 3x \quad \text{--- (1)}$$

$$\Rightarrow y'' + 9y = 0 \quad \text{--- (2)}$$

$$\Rightarrow \lambda^2 + 9 = 0 \Rightarrow \lambda = \pm 3i \text{ . hence } y_h = A\cos 3x + B\sin 3x.$$

$$y_p = Ax\cos 3x + Bx\sin 3x.$$

$$\Rightarrow y'_p = -3Ax\sin 3x + A\cos 3x + 3Bx\cos 3x + B\sin 3x.$$

$$\Rightarrow y''_p = -9Ax\cos 3x - 3B\sin 3x - 9Bx\sin 3x + 6B\cos 3x.$$

putting in (1)

$$-9Ax\cos 3x - 3B\sin 3x - 9Bx\sin 3x + 6B\cos 3x + 9Ax\cos 3x + 9Bx\sin 3x = 6\cos 3x$$

$$\Rightarrow -3B\sin 3x + 6B\cos 3x = 6\cos 3x.$$

$$\Rightarrow -3B = 0, \quad 6B = 6 \Rightarrow B = 1 \text{ . } A = 0.$$

$$\therefore y_p = x\sin 3x.$$

check

$$y'_p = \sin 3x + 3x\cos 3x.$$

$$\Rightarrow y''_p = 3\cos 3x + 3\cos 3x - 9x\sin 3x.$$

$$\therefore (1) \Rightarrow 6\cos 3x - 9x\sin 3x + 9x\sin 3x = 6\cos 3x$$

verified

$$\therefore y = y_h + y_p.$$

$$= A\cos 3x + B\sin 3x + x\sin 3x$$

Ans

$$\Rightarrow y'_p = e^{-x}(-K(\cos x + 2\sin x))$$

$$\Rightarrow y''_p = e^{-x}(2K\sin x - 2M\cos x)$$

similarly,

$$y'_p = e^{-x}(-K\cos x - M\sin x - K\sin x + M\cos x)$$

$$\Rightarrow y'_p = e^{-x}(M\cos x - M\sin x - K\cos x - K\sin x)$$

putting in ①

$$\Rightarrow e^{-x}(2K\sin x - 2M\cos x) + 6e^{-x}(M\cos x - M\sin x - K\cos x - K\sin x) + 9e^{-x}(K\cos x + M\sin x) = 50e^{-x}\cos x$$

$$\Rightarrow e^{-x}(2K\sin x - 2M\cos x + 6M\cos x - 6M\sin x - 6K\cos x - 6K\sin x + 9K\cos x + 9M\sin x) = 50e^{-x}\cos x$$

$$\Rightarrow e^{-x}(2K\sin x - 6K\sin x - 2M\cos x + 6M\cos x + 9M\sin x - 6M\sin x + 9K\cos x - 6K\cos x) = 50e^{-x}\cos x$$

$$\Rightarrow e^{-x}(-4K\sin x + 4M\cos x + 3M\sin x + 3K\cos x) = 50e^{-x}\cos x$$

comparing coefficients of  $e^{-x}\cos x$  and  $e^{-x}\sin x$  on both sides we have

$$4M + 3K = 50 \quad \text{--- ①}$$

$$-4K + 3M = 0 \Rightarrow 3M = 4K \Rightarrow M = \frac{4}{3}K$$

$$-4\left(\frac{4}{3}K\right) + 3K = 50 \Rightarrow \frac{16}{3}K + 3K = 50$$

$$\Rightarrow 16K + 9K = 150$$

$$\Rightarrow 25K = 150 \Rightarrow K = 6$$

$$\text{and hence } M = \frac{4}{3} \times 6 = 8$$

$$\therefore y_p = e^{-x}(6\cos x + 8\sin x)$$

and

$$y = (C_1 + C_2 x)e^{-3x} + e^{-x}(6\cos x + 8\sin x)$$

check

$$y' = -3(C_1 + C_2 x)e^{-3x} + e^{-3x}(0 + C_2) - e^{-x}(6\cos x + 8\sin x) + e^{-x}(-6\sin x + 8\cos x)$$



$$\Rightarrow y' = e^{-3x}(-3c_1 + 3c_2x + 0 + c_2) + e^{-x}(-6\cos x - 8\sin x - 6\sin x + 8\cos x)$$

$$\Rightarrow y' = e^{-3x}(-3c_1 + c_2 + 3c_2x + 0) + e^{-x}(2\cos x - 14\sin x)$$

$$\text{Also } y'' = -3e^{-3x}(3c_1 + c_2 + 3c_2x + 0) + e^{-3x}(3c_2)$$

$$+ e^{-x}(-28\sin x - 14\cos x) - e^{-x}(2\cos x - 14\sin x)$$

$$\Rightarrow y'' = e^{-3x}(9c_1 - 3c_2 - 9c_2x - 0 + 3c_2)$$

$$+ e^{-x}(-28\sin x - 14\cos x - 2\cos x + 14\sin x)$$

$$\Rightarrow y'' = e^{-3x}(9c_1 - 9c_2x - 0)$$

$$+ e^{-x}(-16\cos x + 12\sin x)$$

Putting values of  $y'$  and  $y''$  in (1) we have

$$\Rightarrow e^{-3x}(9c_1 - 3c_2x - 0) + e^{-x}(-16\cos x + 12\sin x) + e^{-3x}(3c_1 + c_2 + 3c_2x + 0)$$

$$+ e^{-x}(2\cos x - 14\sin x) - 6(c_1 + c_2x)e^{-3x} - 6e^{-x}(6\cos x + 8\sin x)$$

$$= e^{-3x}(9c_1 - 3c_2x - 0 - 3c_1 + c_2 + 3c_2x + 0 - 6c_1 - 6c_2x)$$

$$+ e^{-x}(-16\cos x + 12\sin x + 2\cos x - 14\sin x - 36\cos x - 48\sin x)$$

$$\Rightarrow e^{-3x}$$

Sol<sup>n</sup>  $y = y_h + y_p$

For  $y_h$ , we consider

$$\lambda^2 + 2\lambda - 35 = 0$$

Q9  $\Rightarrow \lambda = \frac{-2 \pm \sqrt{4 + 35(4)}}{2} \Rightarrow \lambda = \frac{-2 \pm \sqrt{144}}{2}$

$\Rightarrow \lambda = \frac{-2 \pm 12}{2} \Rightarrow \lambda = 5, -7$

$$y_h = c_1 e^{5x} + c_2 e^{-7x}$$

and let

$$y_p = c x e^{5x} + B \sin x + A \cos 5x$$

$$\Rightarrow y'_p = 5c x e^{5x} + c e^{5x} + 5B \cos x - 5A \sin x$$

$$\Rightarrow y''_p = 25c x e^{5x} + 5c e^{5x} + 5c e^{5x} - 25B \sin x - 25A \cos 5x$$

$$\Rightarrow y''_p = 25c x e^{5x} + 10c e^{5x} - 25B \sin x - 25A \cos 5x$$

putting in (1)

$$\Rightarrow 25c x e^{5x} + 10c e^{5x} - 25B \sin x - 25A \cos 5x + 10c x e^{5x} + 10c e^{5x} + 10B \cos x - 10A \sin x - 35c x e^{5x} - 35B \sin x - 35A \cos 5x$$

$$= 12c x e^{5x} + 37B \sin x$$

$$\Rightarrow 12c e^{5x} - 60B \sin x - 65A \cos 5x + 10B \cos x - 10A \sin x = 12c e^{5x} + 37B \sin x$$

comparing coefficients

$$12c = 12 \Rightarrow c = 1$$

$$-60B - 10A = 37$$

$$-60A + 10B = 0$$

$$-60(6A) - 10A = 37$$

$$\Rightarrow B = \frac{60A}{10} \Rightarrow B = 6A$$

$$\Rightarrow -360A - 10A = 37$$

$$\Rightarrow B = \frac{-6}{10} = -0.6$$

$$\Rightarrow -370A = 37$$

$$\Rightarrow A = \frac{37}{-370} = -\frac{1}{10}$$

$$y = c_1 e^{5x} + c_2 e^{-7x} + x e^{5x} - 0.6 \sin x - 0.1 \cos 5x$$

(10)  $y'' - y' - 3/4 y = 2 \sin 2x$  — (1)

For  $y_h$ ,

$$\lambda^2 - \lambda - 3/4 = 0 \Rightarrow \lambda = \frac{1 \pm \sqrt{1 + 4(3/4)}}{2} = \frac{1 \pm 2}{2}$$

$$\Rightarrow \lambda = 3/2, \lambda = -1/2$$



$$\therefore y_h = c_1 e^{3x/2} + c_2 e^{-x/2}$$

Now let

$$y_p = A e^{2x} + B e^{-2x}$$

$$\Rightarrow y'_p = 2A e^{2x} - 2B e^{-2x}$$

$$\Rightarrow y''_p = 4A e^{2x} - 4B e^{-2x}, \text{ putting in (1)}$$

$$\Rightarrow 4A e^{2x} - 4B e^{-2x} - 2A e^{2x} - 2B e^{-2x} = \frac{3}{4} A e^{2x} + \frac{3}{4} B e^{-2x}$$

$$= 2 \sin 2x$$

$$\Rightarrow \frac{5}{4} A e^{2x} - \frac{6}{4} B e^{-2x} = \frac{2}{8} (e^{2x} - e^{-2x})$$

Comparing coefficients of  $e^{2x}$  and  $e^{-2x}$  we get.

$$\frac{5}{4} A = \frac{2}{8} \Rightarrow 10A = 8 \Rightarrow A = 8/4$$

$$\text{Also } -\frac{6}{4} B = -\frac{2}{8} \Rightarrow 42B = 8 \Rightarrow B = 8/4$$

$$\therefore y_p = 8/4 e^{2x} - 2 e^{-2x}$$

$$\text{and hence } y = y_h + y_p = c_1 e^{3x/2} + c_2 e^{-x/2} + 8/4 e^{2x} - 2 e^{-2x}$$

$$\underline{\text{check}} \quad y' = \frac{3}{2} c_1 e^{3x/2} - \frac{1}{2} c_2 e^{-x/2} + 16/4 e^{2x} - 4 e^{-2x}$$

$$\Rightarrow y'' = \frac{9}{4} c_1 e^{3x/2} + \frac{1}{4} c_2 e^{-x/2} - 33/4 e^{2x} - 8 e^{-2x}$$

putting in (1)

$$\Rightarrow \frac{9}{4} c_1 e^{3x/2} + \frac{1}{4} c_2 e^{-x/2} - 33/4 e^{2x} - 8 e^{-2x} = \frac{3}{4} c_1 e^{3x/2} + \frac{1}{4} c_2 e^{-x/2}$$

$$- 16/4 e^{2x} - 4 e^{-2x} + \frac{3}{4} c_1 e^{3x/2} + \frac{3}{4} c_2 e^{-x/2} - 3/4 c_2 e^{2x} + 6/4 e^{2x}$$

$$+ 8/4 e^{-2x}$$

for  $y_h$ .

$$\lambda^2 + 10\lambda + 25 = 0$$

$$\Rightarrow \lambda^2 + 5\lambda + 5\lambda + 25 = 0 \Rightarrow \lambda(\lambda + 5) + 5(\lambda + 5) = 0$$

Q11  $\Rightarrow \lambda = -5, \lambda = -5$ .

$$\therefore y_h = (c_1 + c_2 x) e^{-5x}$$

and

$$y_p = cx^2 e^{-5x}$$

$$y_p' = 2cx e^{-5x} - 5cx^2 e^{-5x}$$

$$y_p'' = 2c e^{-5x} - 10cx e^{-5x} + 25cx^2 e^{-5x}$$

$$\Rightarrow y_p'' - 10y_p' + 25y_p = e^{-5x}$$

$$\Rightarrow 2c e^{-5x} - 10cx e^{-5x} + 25cx^2 e^{-5x} - 10(2cx e^{-5x} - 5cx^2 e^{-5x}) + 25(cx^2 e^{-5x}) = e^{-5x}$$

$$\Rightarrow 2c e^{-5x} - 10cx e^{-5x} + 25cx^2 e^{-5x} - 20cx e^{-5x} + 50cx^2 e^{-5x} + 25cx^2 e^{-5x} = e^{-5x}$$

$$\Rightarrow 2c e^{-5x} - 30cx e^{-5x} + 75cx^2 e^{-5x} = e^{-5x}$$

$$\Rightarrow 2c - 30cx + 75cx^2 = 1$$

$$\Rightarrow 2c = 1 \Rightarrow c = 1/2$$

$$\therefore y_p = \frac{1}{2} x^2 e^{-5x}$$

Hence G.S of (1) is.

$$y = y_h + y_p = (c_1 + c_2 x) e^{-5x} + \frac{1}{2} x^2 e^{-5x}$$


---

Q12  $y'' + 3y' - 18y = 9 \sin 4x$

$$\Rightarrow y'' + 3y' - 18y = 9(e^{3x} - e^{-3x}) \quad \text{--- (1)}$$

sol For  $y_h$ , we have.

$$\lambda^2 + 3\lambda - 18 = 0$$

$$\Rightarrow \lambda^2 + 6\lambda - 3\lambda - 18 = 0 \Rightarrow \lambda(\lambda + 6) - 3(\lambda + 6) = 0$$

$$\Rightarrow \lambda = 3, \lambda = -6$$

$$\therefore y_h = c_1 e^{3x} + c_2 e^{-6x}$$



Now  $y_p = Ax e^{3x} - B e^{-3x}$

$$\Rightarrow y'_p = 3Ax e^{3x} + A e^{3x} + 3B e^{-3x}$$

$$\Rightarrow y''_p = 9Ax e^{3x} + 3A e^{3x} + 3A e^{3x} - 9B e^{-3x}$$

$$\Rightarrow y''_p = 9Ax e^{3x} + 6A e^{3x} - 9B e^{-3x}$$

pulling in ①

$$\Rightarrow 9Ax e^{3x} + 6A e^{3x} - 9B e^{-3x} + 9Ax e^{3x} + 3A e^{3x} + 9B e^{-3x} - 18A e^{3x} + 18B e^{-3x} = \frac{9}{2}(e^{3x} - e^{-3x})$$

$$\Rightarrow -9A e^{3x} + 18B e^{-3x} = \frac{9}{2}(e^{3x} - e^{-3x})$$

comparing coefficients of  $e^{3x}$  and  $e^{-3x}$  on b/s, we have

$$9A = \frac{9}{2}, \quad 18B = \frac{9}{2}$$

$$\Rightarrow A = \frac{1}{2}, \quad B = -\frac{1}{4}$$

$$\therefore y_p = \frac{1}{2} x e^{3x} + \frac{1}{4} e^{-3x}$$

check  $y_p = \frac{1}{2} e^{3x} + \frac{3}{2} x e^{3x} - \frac{3}{4} e^{-3x}$

$$\Rightarrow y'_p = \frac{3}{2} e^{3x} + \frac{3}{2} e^{3x} + \frac{9}{2} x e^{3x} + \frac{9}{4} e^{-3x}$$

$$\Rightarrow y''_p = 3e^{3x} + \frac{9}{2} x e^{3x} + \frac{9}{4} e^{-3x}$$

pulling in ①

$$\Rightarrow 3e^{3x} + \frac{9}{2} x e^{3x} + \frac{9}{4} e^{-3x} + \frac{3}{2} e^{3x} + \frac{9}{2} x e^{3x} - \frac{9}{4} e^{-3x} - 9x e^{3x} - 9 e^{-3x} =$$

$$\Rightarrow 4.5 e^{3x} - 4.5 e^{-3x} = \frac{9}{2}(e^{3x} - e^{-3x})$$

verified

Hence,

$$y = y_h + y_p = c_1 e^{3x} + c_2 e^{-3x} + \frac{1}{2} x e^{3x} + \frac{1}{4} e^{-3x}$$

Ans

$$y'' + 8y' + 16y = 32(e^{4x} - e^{-4x}) \quad \text{--- (1)}$$

For  $y_h$ , we have the characteristic eq as.

$$\lambda^2 + 8\lambda + 16 = 0.$$

$$\Rightarrow \lambda + 4\lambda + 4\lambda + 16 = 0 \Rightarrow \lambda(\lambda + 4) + 4(\lambda + 4) = 0$$

$$\Rightarrow \lambda = -4, -4. \quad (\text{double roots})$$

$$\therefore y_h = (C_1 + C_2 x)e^{-4x}.$$

$$\text{Now } y_p = Ae^{4x} - Bx^2e^{-4x}.$$

$$\Rightarrow y_p' = 4Ae^{4x} - 2Bxe^{-4x} + 4Bx^2e^{-4x}.$$

$$\Rightarrow y_p'' = 16Ae^{4x} + 8Bxe^{-4x} - 2Be^{-4x} + 8Bxe^{-4x} - 16Bx^2e^{-4x} - 32Bxe^{-4x}$$

$$\Rightarrow y_p'' = 16Ae^{4x} + 16Bxe^{-4x} - 2Be^{-4x} - 16Bx^2e^{-4x}.$$

putting in (1)

$$\Rightarrow 16Ae^{4x} + 16Bxe^{-4x} - 2Be^{-4x} - 16Bx^2e^{-4x} + 32Ae^{4x} - 16Bxe^{-4x} + 32Bx^2e^{-4x} + 16Ae^{4x} - 16Bx^2e^{-4x} = 32(e^{4x} - e^{-4x})$$

$$\Rightarrow 64Ae^{4x} - 2Be^{-4x} = 32(e^{4x} - e^{-4x}).$$

comparing coefficients of  $e^{4x}$  and  $e^{-4x}$  on both sides,

$$64A = 32 \Rightarrow A = \frac{1}{2}$$

$$-2B = -32 \Rightarrow B = 16.$$

$$\therefore y_p = \frac{1}{2}e^{4x} - 16x^2e^{-4x}.$$

$$\text{and } y = y_h + y_p = (C_1 + C_2 x)e^{-4x} + \frac{1}{2}e^{4x} - 16x^2e^{-4x}.$$

$$(14) \quad y'' - 4y' + 20y = 377\sin x. \quad \text{--- (1)}$$

For  $y_h$ , we have the characteristic eq as.

$$\lambda^2 - 4\lambda + 20 = 0.$$

$$\Rightarrow \lambda = \frac{4 \pm \sqrt{16 - 4(20)}}{2} = \frac{4 \pm 8i}{2} = 2 \pm 4i.$$

$$\therefore y_h = e^{2x} (A \cos 4x + B \sin 4x).$$



$$\Rightarrow y' = -A \sin x + B \cos x \Rightarrow y'' = -A \cos x - B \sin x$$

*putting in (1)*

$$\Rightarrow -A \cos x - B \sin x - 4(-A \sin x + B \cos x) + 20(A \cos x + B \sin x) = 377 \sin x$$

$$\Rightarrow -A \cos x + 4A \sin x + 20A \cos x - B \sin x - 4B \cos x + 20B \sin x = 377 \sin x$$

$$\Rightarrow 19A \cos x + 19B \sin x + 4A \sin x - 4B \cos x = 377 \sin x$$

comparing coefficients of  $\cos x$  &  $\sin x$  on b/s, we get

$$19A - 4B = 0 \Rightarrow A = \frac{4}{19} B$$

$$\& 19B + 4A = 377 \Rightarrow 19B + \frac{16B}{19} = 377$$

$$\Rightarrow 377B = 377 \times 19 \Rightarrow B = 19$$

Hence  $A = 4$ .

So  $y_p = 4 \cos x + 19 \sin x$ .

check

$$y' = -4 \sin x + 19 \cos x \Rightarrow y'' = -4 \cos x - 19 \sin x$$

$$\textcircled{1} \Rightarrow -4 \cos x - 19 \sin x + 16 \sin x - 76 \cos x + 380 \sin x = 377 \sin x$$

$$\Rightarrow y = y_h + y_p$$

$$= e^{2x} (A \cos 4x + B \sin 4x) + 4 \cos x + 19 \sin x$$

Ans

### INITIAL VALUE PROBLEMS.

15  $y'' + 1.5y' - y = 12x^2 + 6x^3 - x^4, y(0) = 4, y'(0) = 8$

Sol for  $y_h$ .  $\hookrightarrow \textcircled{1}$

$$\lambda^2 + 1.5\lambda - 1 = 0$$

$$\Rightarrow \lambda = \frac{-1.5 \pm \sqrt{2.25 - 4(-1)}}{2} = \frac{-1.5 \pm 2.05}{2}$$

$$\Rightarrow \lambda = \frac{1}{2}, \lambda = -\frac{3}{2}$$

$$\therefore y_h = C_1 e^{\frac{x}{2}} + C_2 e^{-\frac{3x}{2}}$$

$$\Rightarrow y'p = 4K_4x^3 + 3K_3x^2 + 2K_2x + K_1.$$

$$\Rightarrow y''p = 12K_4x^2 + 6K_3x + 2K_2.$$

putting in (1)

$$\Rightarrow 12K_4x^2 + 6K_3x + 2K_2 + 1.5(4K_4x^3 + 3K_3x^2 + 2K_2x + K_1) - K_4x^4 + K_3x^3 + K_2x^2 + K_1x + K_0 = 12x^2 + 6x^3 - x^4$$

$$\Rightarrow 12K_4x^2 + 6K_3x + 2K_2 + 6K_4x^3 + 4.5K_3x^2 + 3K_2x + 1.5K_1 - K_4x^4 + K_3x^3 + K_2x^2 + K_1x + K_0 = 12x^2 + 6x^3 - x^4$$

comparing coefficients of  $x^4, x^3, x^2, x$  and constants on b/s, we get

$$12K_4 + 4.5K_3 + K_2 = 12 \Rightarrow K_2 = -12 + 12 = 0.$$

$$-K_4 = -1 \Rightarrow K_4 = 1$$

$$6K_4 + K_3 = 6 \Rightarrow K_3 = 6 - 6 = 0.$$

$$2K_2 + 1.5K_1 + K_0 = 0.$$

$$\Rightarrow K_0 + 1.5K_1 = 0 \Rightarrow K_0 = 0.$$

$$\text{Also } K_4 + 4.5K_3 =$$

$$6K_3 + 3K_2 + K_1 = 0$$

$$\Rightarrow K_1 = 0.$$

$$\text{hence } K_1 = 0.$$

$$K_2 = 0$$

$$K_3 = 0.$$

$$K_4 = 1.$$

$$K_0 = 0.$$

$$\therefore y_p = x^4.$$

$$\text{and thus } y = y_h + y_p = C_1 e^{2x} + C_2 e^{-2x} + x^4. \quad (2)$$

applying initial conditions.

$$y = C_1 + C_2 \quad (3)$$

$$\text{we have } y' = \frac{1}{2}C_1 e^{2x} - \frac{1}{2}C_2 e^{-2x} + 4x^3.$$

Applying second initial condition.

$$-8 = \frac{1}{2}C_1 - \frac{1}{2}C_2 \Rightarrow -16 = C_1 - C_2.$$

$$\Rightarrow -16 = C_1 - C_2 \quad (4)$$

adding (3) and (4) we get.

$$-3C_1 = -4 \Rightarrow C_1 = -4/3.$$

$$\text{and hence } (3) \Rightarrow C_2 = 4 + 4/3 = 16/3.$$



$$20 = 5c_2 \Rightarrow c_2 = 4. \text{ hence } c_1 = 0.$$

$$\therefore y = 4e^{2x} + x^4 \text{ Ans}$$

$$\textcircled{10} \quad y'' - 6y' + 13y = 4e^{3x}, \quad y(0) = 2, \quad y'(0) = 4.$$

For  $y_h$ , we have

$$\lambda^2 - 6\lambda + 13 = 0 \Rightarrow \lambda = \frac{6 \pm \sqrt{36 - 52}}{2} = \frac{6 \pm 4i}{2} = 3 \pm 2i.$$

$$\therefore y_h = e^{3x} (A \cos 2x + B \sin 2x)$$

$$\text{now } y_p = k e^{3x} \cdot \frac{x}{x} = k x e^{3x} = k e^{3x}.$$

$$\Rightarrow y_p' = 3k e^{3x}, \quad y_p'' = 9k e^{3x}, \text{ putting in } \textcircled{1}$$

$$\Rightarrow 9k e^{3x} - 18k e^{3x} + 13k e^{3x} = 4e^{3x}.$$

$$\Rightarrow 4k e^{3x} = 4e^{3x}.$$

comparing coefficients, we have

$$k = 1 \quad \therefore y_p = e^{3x}$$

$$\text{and so } y = y_h + y_p = e^{3x} (A \cos 2x + B \sin 2x) + e^{3x}.$$

$$\Rightarrow y = e^{3x} (A \cos 2x + B \sin 2x + 1).$$

Applying initial conditions.

$$2 = A \cos 0 + B \sin 0 + 1 \Rightarrow A = 2 - 1 = 1$$

$$\text{Also we have } y' = 3e^{3x} (A \cos 2x + B \sin 2x + 1) + e^{3x} (-2A \sin 2x + 2B \cos 2x)$$

$$\therefore 4 = 3(A \cos 0 + 1) + 2B \cos 0.$$

$$\Rightarrow 4 = 3A + 3 + 2B \Rightarrow 2B = 4 - 3 - 3A = 4 - 3 - 3(1)$$

$$\Rightarrow 2B = -2 \Rightarrow B = -1$$

$$\therefore y = e^{3x} (\cos 2x - \sin 2x + 1).$$

Ans

In the above function note that we haven't multiply  $x^2$  because there  $r(x) = 4e^{3x}$  and

in  $y_h$  we have  $e^{3x} \cos 2x$  and  $e^{3x} \sin 2x$ .

Now note that if  $y'' - 4y' + 4y = e^{2x}$ .

Now  $y'' - 4y' + 4y = 0$  have sol  $y_1 = c_1 e^{2x}$  &  $y_2 = c_2 x e^{2x}$ .

Now here if we take  $y_p = c_1 x e^{2x}$ , this is the solution of homogeneous eq. and it gives 0 ans. So we multi

$y(0)=0, y'(0)=0.$

sol we have the G.S of ① as.

Q17  $y = y_h + y_p$  — (2)

For  $y_h$ , we have.

$$\lambda^2 - 4 = 0 \Rightarrow \lambda = \pm 2.$$

$$\therefore y_h = c_1 e^{2x} + c_2 e^{-2x}.$$

Now  $y_p = A e^{-2x} + K_1 x + K_0.$

$$\Rightarrow y_p' = -2A e^{-2x} + K_1 \Rightarrow y_p'' = 4A e^{-2x} - 2A e^{-2x} = 2A e^{-2x}.$$

Putting in ①

$$\Rightarrow 4A e^{-2x} - 4A e^{-2x} - 4K_1 x + 4K_0 = e^{-2x} - 2x.$$

$$\Rightarrow -4A e^{-2x} - 4K_1 x + 4K_0 = e^{-2x} - 2x.$$

comparing coefficients.

(i)  $e^{-2x}$  (ii)  $x$

$$\Rightarrow -4A = 1 \Rightarrow A = -1/4. \quad \Rightarrow -4K_1 = -2 \Rightarrow K_1 = 1/2.$$

(iii) constants.

$$\Rightarrow 4K_0 = 0 \Rightarrow K_0 = 0$$

$$\therefore y_p = -1/4 x e^{-2x} + 1/2 x.$$

and thus

$$y = c_1 e^{2x} + c_2 e^{-2x} - 1/4 x e^{-2x} + 1/2 x. \quad \text{--- (3)}$$

Also  $y' = 2c_1 e^{2x} - 2c_2 e^{-2x} + 1/2 x e^{-2x} - 1/2 e^{-2x} + 1/2.$

Applying initial condition.

(1st)  $0 = c_1 + c_2 \Rightarrow c_2 = -c_1$

(2nd)  $0 = 2c_1 - 2c_2 + 1/2 - 1/2.$

$$\Rightarrow 1/4 + 2c_1 - 2c_2 = 0. \quad \text{put } c_2 = -c_1.$$

$$\Rightarrow 1/4 + 2c_1 - 2(-c_1) = 0$$

$$\Rightarrow 1/4 + 2c_1 + 2c_1 = 0 \Rightarrow 4c_1 = -1/4 \Rightarrow c_1 = -1/16.$$

and hence  $c_2 = 1/16.$  putting in ③ we get.

$$y = -1/16 e^{2x} + 1/16 e^{-2x} - 1/4 x e^{-2x} + 1/2 x.$$

$$\Rightarrow y = -\frac{1}{8} \left( \frac{e^{2x} - e^{-2x}}{2} \right) - 1/4 x e^{-2x} + 1/2 x.$$



sol<sup>n</sup> we have:  $(-\frac{3}{2})$

$$y = y_h + y_p \quad \text{--- (2)}$$

For  $y_h$ , we have

$$\lambda^2 + 9 = 0 \Rightarrow \lambda = \pm 3i.$$

$$y_h = A \cos 3x + B \sin 3x.$$

Now

$$y_p = A \cos 3x + B \sin 3x.$$

$$\Rightarrow y_p' = -3A \sin 3x + 3B \cos 3x.$$

$$\Rightarrow y_p'' = -9A \cos 3x - 9B \sin 3x.$$

pulling in (1)

$$\Rightarrow -9A \cos 3x - 9B \sin 3x + 9A \cos 3x + 9B \sin 3x.$$

which is not valid.

hence.

$$y_p = Ae^{3x} + Be^{-3x}$$

$$\Rightarrow y_p' = 3Ae^{3x} - 3Be^{-3x}$$

$$\Rightarrow y_p'' = 9Ae^{3x} + 9Be^{-3x}$$

pulling in (1)

$$\Rightarrow 9Ae^{3x} + 9Be^{-3x} + 9Ae^{3x} + 9Be^{-3x} = 3e^{3x} + 3e^{-3x}.$$

comparing coefficients of  $e^{3x}$  &  $e^{-3x}$  we have.

$$18A = 3 \Rightarrow A = \frac{1}{6}.$$

Also  $18B = 3 \Rightarrow B = \frac{1}{6}$

$$y_p = \frac{1}{6}e^{3x} + \frac{1}{6}e^{-3x}$$

so  $y = y_h + y_p = A \cos 3x + B \sin 3x + \frac{1}{6}e^{3x} + \frac{1}{6}e^{-3x}$

---

(19)  $y'' + 1.2y' + 0.36y = 4e^{-0.6x}$ ,  $y(0) = 0$ ,  $y'(0) = 1$

sol<sup>n</sup> we have

$$y = y_h + y_p \quad \text{--- (1)}$$

for  $y_h$  we have the characteristic equations

$$\lambda^2 + 1.2\lambda + 0.36 = 0.$$

$$\Rightarrow \lambda = \frac{-1.2 \pm \sqrt{(1.2)^2 - 4(0.36)}}{2} = -0.6 \quad (\text{double roots})$$

$$\therefore y_h = (c_1 x + c_2) e^{-0.6x}$$

$$\text{Now } y_p = c e^{-0.6x} \cdot x^2 = c x^2 e^{-0.6x}$$

$$\Rightarrow y_p' = 2cx e^{-0.6x} - 0.6c x^2 e^{-0.6x}$$

$$\Rightarrow y_p'' = 2c e^{-0.6x} - 1.2cx e^{-0.6x} - 1.2cx e^{-0.6x} + 0.36c x^2 e^{-0.6x}$$

$$\Rightarrow y_p'' = e^{-0.6x} (2c - 1.2cx - 1.2cx + 0.36c x^2)$$

$$\Rightarrow y_p'' = e^{-0.6x} (2c - 2.4cx + 0.36c x^2)$$

pulling in (4)

$$\Rightarrow e^{-0.6x} (2c - 2.4cx + 0.36c x^2) + 1.2e^{-0.6x} (2cx - 0.6c x^2) + 0.36e^{-0.6x} (c x^2) = 4e^{-0.6x}$$

$$\Rightarrow e^{-0.6x} (2c - 2.4cx + 2.4cx - 0.72c x^2 + 0.36c x^2 + 0.36c x^2) = 4e^{-0.6x}$$

$$\Rightarrow 2c e^{-0.6x} = 4e^{-0.6x}$$

Comparing coefficients

$$\Rightarrow 2c = 4 \Rightarrow c = 2$$

$$\therefore y_p = 2x^2 e^{-0.6x}$$

$$\therefore y = y_h + y_p = (c_1 + c_2 x) e^{-0.6x} + 2x^2 e^{-0.6x} \quad \text{Ans (2)}$$

$$\Rightarrow y' = -0.6(c_1 + c_2 x) e^{-0.6x} + c_2 e^{-0.6x} + 4x e^{-0.6x} - 1.2x^2 e^{-0.6x}$$

Applying initial conditions (3)

$$\textcircled{2} \Rightarrow 0 = c_1 \text{ \& } \textcircled{2} \Rightarrow 1 = -0.6(c_1) + c_2 \Rightarrow c_2 = 1$$

pulling in (2)

$$\therefore y = (x + 2x^2) e^{-0.6x}$$

Ans



For  $y_h$ , we have

$$\lambda^2 - 2.8\lambda + 1.96 = 0.$$

$$\Rightarrow \lambda = \frac{2.8 \pm \sqrt{7.84 - 7.84}}{2} = 1.4 \quad (\text{double roots})$$

Q<sub>20</sub> Hence the general solution  $y_h$  is.

$$y_h = (c_1 + c_2 x) e^{1.4x}$$

Now

$$y_p = c x^2 e^{1.4x}$$

$$\Rightarrow y_p' = 2cx e^{1.4x} + 1.4c x^2 e^{1.4x} = e^{1.4x} (2cx + 1.4cx^2)$$

$$\Rightarrow y_p'' = 1.4e^{1.4x} (2cx + 1.4cx^2) + e^{1.4x} (2c + 2.8cx)$$

$$\Rightarrow y_p'' = e^{1.4x} (2c + 5.6cx + 1.96cx^2)$$

$$\Rightarrow e^{1.4x} (2c + 5.6cx + 1.96cx^2 - 2.8(2cx + 1.4cx^2) + 1.96(cx^2) e^{-1.4x}) = 2e^{1.4x}$$

pulling in ①

$$\Rightarrow e^{1.4x} (2c + 5.6cx + 1.96cx^2 - 5.6cx - 3.92cx^2 + 1.96cx^2) = 2e^{1.4x}$$

$$= 2e^{1.4x}$$

$$\Rightarrow 2c = 2 \Rightarrow c = 1$$

$$\therefore y_p = x^2 e^{1.4x}$$

and thus

$$y = y_h + y_p = (c_1 + c_2 x) e^{1.4x} + x^2 e^{1.4x} \quad \text{--- (2)}$$

$$\Rightarrow y' = 1.4e^{1.4x} (c_1 + c_2 x + x^2) + e^{1.4x} (c_2 + 2x) \quad \text{--- (3)}$$

$$\Rightarrow y' = e^{1.4x} (1.4c_1 + 1.4c_2 x + x^2 + c_2 + 2x) \quad \text{--- (3)}$$

applying initial conditions.

$$\textcircled{2} \Rightarrow 0 = c_1 \quad \text{and} \quad \textcircled{3} \Rightarrow c_2 = 0$$

$$\therefore y = x^2 e^{1.4x}$$

Ans

for  $y_h$ , we have

$$Q^u \lambda^2 + \lambda = 0$$

$$\Rightarrow \lambda(\lambda+1)=0 \Rightarrow \lambda=0, \lambda=-1. \quad (\text{distinct roots})$$

$$\therefore y_h = c_1 e^x + c_2 e^{-x}$$

Now

$$y_p = x(K_2 x^2 + K_1 x + K_0)$$

$$\Rightarrow y'_p = 2K_2 x + 2K_1 x + K_0$$

$$\Rightarrow y''_p = 2K_2 + 2K_1 \quad \text{pulling in (1)}$$

$$\Rightarrow \cancel{6K_2 x + 2K_1 + K_0} = \cancel{2 + 2x + x^2}$$

$$6K_2 x + 2K_1 + 3K_2 x^2 + 2K_1 x + K_0 = 2 + 2x + x^2$$

comparing coefficient of  $x$  and constants we have

$$2K_2 = 2 \Rightarrow K_2 = 1$$

$$2K_2 + K_1 = 2 \Rightarrow 2(1) + K_1 = 2 \Rightarrow K_1 = 0$$

$$\therefore y_p = x^2$$

$$\textcircled{1} \Rightarrow 6K_2 x + 2K_1 + 3K_2 x^2 + 2K_1 x + K_0 = 2 + 2x + x^2$$

comparing coefficients of  $x$ ,  $x^2$ , and constants

$$\Rightarrow 6K_2 + 2K_1 = 2 \Rightarrow 3K_2 + K_1 = 1 \quad \textcircled{9}$$

$$\text{Also } 3K_2 = 1 \Rightarrow K_2 = \frac{1}{3} \text{ so } \textcircled{9} \Rightarrow K_1 = 0$$

$$\text{and } 2K_1 + K_0 = 2 \Rightarrow K_0 = 2$$

$$\therefore y_p = \frac{1}{3}x^3 + 2x$$

Thus

$$y = y_h + y_p = c_1 + c_2 e^{-x} + \frac{1}{3}x^3 + 2x \quad \textcircled{2}$$

$$\Rightarrow y' = -c_2 e^{-x} + x^2 + 2 \quad \textcircled{3}$$

Applying initial conditions

$$\textcircled{2} \Rightarrow 8 = c_1 + c_2 \quad \text{and} \quad \textcircled{3} \Rightarrow -1 = -c_2 + 2$$

$$\Rightarrow c_2 = 3$$

$$\therefore c_1 = 5$$

$$\text{and on } y = 5 + 3e^{-x} + \frac{1}{3}x^3 + 2x \text{ Ans}$$



so for  $y_h$ , we have.

$$\lambda^2 + \lambda + 9.25 = 0$$

Q22

$$\Rightarrow \lambda = \frac{-1 \pm \sqrt{1 - 4(9.25)}}{2}$$

$$\Rightarrow \lambda = -1 \pm 6i \Rightarrow \lambda = -0.5 \pm 3i$$

$$\therefore y_h = e^{-0.5x} (A \cos 3x + B \sin 3x)$$

now let

$$y_p = x^k (K_0 x^0 + M e^{-x})$$

$$k=0$$

$$y_p = (K_0 + M e^{-x})$$

$$\Rightarrow y_p' = -M e^{-x} \Rightarrow y_p' = M e^{-x} \text{ putting in (1)}$$

$$\Rightarrow M e^{-x} - M e^{-x} + 9.25 K_0 + 9.25 M e^{-x} = 9.25(4 + e^{-x})$$

comparing coefficients of constant and  $e^{-x}$

$$\Rightarrow 9.25 K_0 = 9.25(4) \Rightarrow K_0 = 4$$

$$\& 9.25 M e^{-x} = 9.25 e^{-x}$$

$$\Rightarrow M = 1$$

$$\therefore y_p = (4 + e^{-x})$$

and thus

$$y = e^{-0.5x} (A \cos 3x + B \sin 3x) + 4 + e^{-x} \quad \text{--- (2)}$$

$$\Rightarrow y' = -0.5 e^{-0.5x} (A \cos 3x + B \sin 3x) + e^{-0.5x} (3A \sin 3x + 3B \cos 3x) - e^{-x}$$

$$\Rightarrow y' = e^{-0.5x} (-0.5A \cos 3x + 0.5B \sin 3x - 3A \sin 3x + 3B \cos 3x)$$

Applying initial conditions  $-e^{-x}$  (3)

$$(2) \Rightarrow 7 = A + 4 \Rightarrow A = 3$$

$$(3) \Rightarrow -2 = -0.5A + 0.5B - 3A + 3B \Rightarrow -2 + 1 + 3 = 3B - 0.5B \Rightarrow 2 = 2.5B \Rightarrow B = 0.8$$

$$\Rightarrow y = e^{-0.5x} (6 \cos 3x + 2/3 \sin 3x) + e^{-x} + 4.$$

$$\Rightarrow y' = e^{-0.5x} (-3 \cos 3x - 1/3 \sin 3x - 18 \sin 3x + 2 \cos 3x) - e^{-x}.$$

$$\Rightarrow y'' = -0.5 e^{-0.5x} (-3 \cos 3x - 1/3 \sin 3x - 18 \sin 3x + 2 \cos 3x).$$

$$+ e^{-0.5x} (9 \sin 3x - \cos 3x - 54 \cos 3x - 6 \sin 3x) + e^{-x}$$

$$\Rightarrow y'' = e^{-0.5x} (3/2 \cos 3x + 1/6 \sin 3x + 9 \sin 3x - \cos 3x) + 9 \sin 3x - \cos 3x - 54 \cos 3x - 6 \sin 3x.$$

$$\Rightarrow y'' = (-54.5 \cos 3x + 12.167 \sin 3x) e^{-0.5x}$$

pulling in (a)

$$\Rightarrow (-54.5 \cos 3x + 12.167 \sin 3x - \cos 3x - 18.33 \sin 3x) e^{-0.5x} + 55.5 \cos 3x + 6.167 \sin 3x + 9.25 (e^{-x} + 4) = (e^{-x} + 4) 9.25$$

hence proved.